9.4 Practice - Quadratic Formula

Solve each equation with the quadratic formula.

1) 4a2+6=0 2) 3k2 +2=0

3) 222 —8x —2=0 4) 6n* —

5)2m?—3=0 6) 5p*+2p+6=0

7) 3r?—2r —1=0 8) 222 —2x —15=0
9) 4n? — 36=0 10) 362+ 6=0

11) v —4v —5=—38 12) 20° 4+ 42 4+12=38
13) 2a*+3a+14=6 14) 6n*—3n+3=—4
15) 3k2 4 3k —4=7 16) 422 — 14=— 2
17) 72243z —16=—2 18) 4n?+5n =T

19) 2p2 + 6p — 16 = 4 20) m2+ 4m — 48 = — 3
21) 302+ 3n=—3 22) 352 — 3=8b

23) 22%=— Tz +49 24) 3r?+4=—6r
95) 542 =Tz 47 26) 602 = — 54+ 13

27) 8n?=—3n—8 28) 602 =4 + 6v

29) 2224+ br=—3 30) =38

31) 4a? — 64 =0 32) 2k + 6k — 16 =2k
33) 4p? + 5p — 36 = 3p? 34) 122% +x + 7=52%+ 5z
35) —5n%—3n—52=2—"Tn? 36) Tm? —6m+6=—
37) 7r2— 12— — 3¢ 38) 342 — 3= 21

39) 202 — 40) 652 =62 +7—b
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Answers - Quadratic Formula

21)

24)

35)
36)
37)
33)
39)

40)

—14+iV/3 —1—iV3
2 ) 2
1
3,—5
7
77
—3+4iV3 —3—iV/3
3 ’ 3
7+3v21 7-3V21
10 ° 10
— 544337 —5—+/337
12 ) 12
—34iv247 —3—iy/247
16 ) 16
3+33 3-33
6 ' 6
3
_1’_5
2V2, — 22
4,—4
2,—4
4,—9
2+43ivV5 2—3iv5
70 7
9
6,—5
5+1iyv/143 5—iy/143
14 14
—34+/345 —3—+/345
14 ) 14
V6 V6
2 2
26 V26
2 2
—14++/141 —1-+/141
10 ) 10



